
Economic Commission for Latin America and the Caribbean (ECLAC). Life Tables.
Demographic Observatory, Latin America and the Caribbean (LC/PUB.2017/20-P).
Santiago: United Nations, 2017.
Downloaded from https://www.cepal.org/en/node/44746 (14.01.2019).

https://www.cepal.org/en/node/44746


OBSERVATORIO
DEMOGRÁFICO

América Latina
y el Caribe

DEMOGRAPHIC
OBSERVATORY
Latin America  
and the Caribbean

2 0 1 7

Tablas de  
mortalidad

Life 
tables



177

CEPAL • América Latina y el Caribe. Observatorio Demográfico 2017	 Tablas de mortalidad

Cuadro 18 (continuación 5)/Table 18 (continued 5)
Perú: tablas abreviadas de mortalidada

Peru: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.040 0.038  100 000  3 845  96 929 0.954 b 6 789 942 67.9
1 4 0.004 0.018  96 155  1 688  380 041 0.987 c 6 693 013 69.6
5 5 0.001 0.006  94 467   535  471 000 0.995 6 312 971 66.8

10 5 0.001 0.004  93 933   347  468 796 0.995 5 841 971 62.2
15 5 0.001 0.006  93 586   539  466 581 0.993 5 373 175 57.4
20 5 0.002 0.009  93 047   839  463 137 0.990 4 906 594 52.7
25 5 0.002 0.011  92 208  1 011  458 512 0.988 4 443 457 48.2
30 5 0.003 0.013  91 197  1 147  453 116 0.986 3 984 945 43.7
35 5 0.003 0.016  90 050  1 421  446 695 0.982 3 531 829 39.2
40 5 0.004 0.021  88 628  1 819  438 593 0.975 3 085 134 34.8
45 5 0.006 0.029  86 809  2 497  427 803 0.966 2 646 541 30.5
50 5 0.008 0.040  84 312  3 396  413 070 0.950 2 218 738 26.3
55 5 0.012 0.061  80 916  4 901  392 326 0.926 1 805 669 22.3
60 5 0.019 0.089  76 015  6 748  363 203 0.890 1 413 342 18.6
65 5 0.029 0.134  69 266  9 282  323 128 0.837 1 050 139 15.2
70 5 0.043 0.197  59 985  11 798  270 428 0.765  727 011 12.1
75 5 0.065 0.282  48 187  13 578  206 989 0.660  456 583 9.5
80 5 0.107 0.420  34 609  14 548  136 674 0.531  249 594 7.2
85 5 0.156 0.554  20 061  11 105  72 539 0.409  112 921 5.6
90 5 0.216 0.675  8 955  6 048  29 655 0.300  40 382 4.5
95 5 0.282 0.774  2 907  2 250  8 908 0.170 d  10 727 3.7

100 ω 0.361 1.000   656   656  1 819  1 819 2.8
Mujeres/Females

0 1 0.030 0.029  100 000  2 942  97 612 0.964 b 7 309 965 73.1
1 4 0.003 0.014  97 058  1 340  384 634 0.990 c 7 212 353 74.3
5 5 0.001 0.004  95 718   396  477 599 0.997 6 827 718 71.3

10 5 0.001 0.002  95 322   238  476 013 0.997 6 350 119 66.6
15 5 0.001 0.003  95 084   332  474 587 0.996 5 874 106 61.8
20 5 0.001 0.005  94 751   454  472 622 0.995 5 399 519 57.0
25 5 0.001 0.006  94 298   562  470 083 0.993 4 926 897 52.2
30 5 0.001 0.007  93 736   694  466 944 0.991 4 456 814 47.5
35 5 0.002 0.010  93 042   917  462 918 0.988 3 989 870 42.9
40 5 0.003 0.013  92 125  1 229  457 553 0.984 3 526 952 38.3
45 5 0.004 0.019  90 896  1 696  450 239 0.978 3 069 399 33.8
50 5 0.005 0.026  89 200  2 342  440 143 0.967 2 619 161 29.4
55 5 0.008 0.039  86 858  3 401  425 788 0.951 2 179 017 25.1
60 5 0.012 0.060  83 457  4 998  404 792 0.923 1 753 229 21.0
65 5 0.020 0.096  78 459  7 495  373 560 0.879 1 348 438 17.2
70 5 0.032 0.149  70 965  10 548  328 453 0.819  974 877 13.7
75 5 0.049 0.218  60 416  13 169  269 158 0.719  646 425 10.7
80 5 0.088 0.362  47 247  17 094  193 500 0.582  377 266 8.0
85 5 0.137 0.505  30 153  15 223  112 708 0.450  183 766 6.1
90 5 0.198 0.642  14 930  9 582  50 696 0.328  71 058 4.8
95 5 0.267 0.755  5 348  4 038  16 646 0.183 d  20 363 3.8

100 ω 0.352 1.000  1 310  1 310  3 717  3 717 2.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


